






263.99 ÷ (35.05 + 8.08 – 31.99) = ?

A.22 
B.24 
C.34 
D.18 
E.28



30x² – 44x + 16 = 0 

24y² – 4y – 4 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



5, 12,   33,   136,   675,   ?

A.5569
B.4426
C.5046
D.4065
E.4056



? =   (1248.28 + 51.7) ÷ 99.9 – 7.98

A.49
B.81
C.64
D.16
E.25



16x2 + 20x + 6 = 0 

10y2 + 38y +24 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



40.01% of 900.09 + (7.07 × 99.99) ÷ 14.14 + ? = 70.07% of 7000

A.4490
B.4940
C.4904
D.4094
E.9044



255.95 + 14.99 × 2.99 = ? + 11.11

A.40
B.50
C.60
D.55
E.45



10,     12,     18,     42,     162,     ?

A.828
B.998
C.456
D.768
E.882



117x2 + 128x + 35 = 0

39y2 – 31y – 28 = 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



449.97 ÷ 15.02 + 208.08 ÷ 8.01 – 16.01 = ?

A.120
B.60
C.100
D.80
E.40



Copper and Zinc are in the ratio 2 : 3 in 200 gms of an alloy. The quantity (in grams) 

of copper to be added to it to make the ratio 3 : 2 is ?

एक मिश्रधातु के 200 ग्राि िें कॉपर और म िंक का अनुपात 2:3 है। तािंबे की िात्रा (ग्राि िें) को 3 : 2 का 

अनुपात बनाने के मिए इसिें मििाया  ाना है?

A.150gm
B.100gm
C.120gm
D.125gm
E.NOT



(52.022 – 34.012)  ÷ 17.99 × ?= 1720

A.400
B.20
C.25
D.625
E.40



2.5, 6.5,    15.5,    31.5,    ?,    92.5   

A.58.5
B.62.5
C.56.5
D.60.5
E.48.5



3x² – 39x + 120 = 0

y² – 23y + 112 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



11.922 + 16.012 = ?2 × 3.952

A.15
B.2
C.4
D.5
E.17



(7.01)3 × (12.01)2 ÷ 2402 =  (?)3

A.7
B.10
C.12
D.13
E.17



If the compound interest accrued on an amount of 15,000rs in two years is 2,496rs, 

what is the rate of interest p.c.p.a.?

यमि िो वर्षों िें 15,000 रुपये की रामि पर अम ित चक्रवमृि ब्या  2,496 रुपये है, तो प्रमत वर्षि ब्या  िर 

क्या है?

A.8%
B.10%
C.6%
D.12%
E.CND



7,    8,    18,    ?,    232,     1165

A.84
B.42
C.57
D.36
E.48



18x2 + 18x + 4 = 0 

12y2 + 29y +14 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



120, 15,     105,     17.5,     87.5,     ?

A.18.5
B.19.5
C.21.875
D.17.5
E.90



119.99 - {64.95 + 119.99 ÷ 3.99} = ?2

A.15
B.10
C.8
D.7
E.5



𝟑
𝟐𝟕. 𝟐𝟕 + 12.99 - 14.99% of 79.98 = ?

A.4
B.2
C.-2
D.8
E.-4



Two students appeared for an examination. One of them secured 9 marks more 

than the other and if his marks were 56% of the sum of their marks. The marks 

obtained by them are?

िो छात्र एक परीक्षा के मिए उपमथित हुए। उनिें से एक ने िूसरे से 9 अिंक अमधक प्राप्त मकए और यमि उसके 

अिंक उनके अिंकों के योग के 56% िे। उनके द्वारा प्राप्त अिंक हैं?

A.40,31
B.72, 63
C.42,33
D.68, 59
E.NOT



If selling price of two articles is equal. If first article is sold on 25% profit then at 

what loss or profit percentage be second be sold to have no  overall profit or loss 

percentage? 

यमि िो वथतुओिं का मवक्रय िूल्य बराबर है। यमि पहिी वथतु को 25% िाभ पर बेचा  ाता है तो पूरे 

व्यवसाय िें कुि मििाकर कोई िाभ या कोई हामन नहीं होने के मिए िूसरी वथतु को मकस हामन या 

िाभ प्रमतित पर बेचा  ाए?

A.25
B.20
C.16 2/3
D.40
E.NOT


